~ TET-1 Question Paper: 30/08/2014

Lo R [Ras e silRan] ase s34 ?

(A) U512 AlSae (B fanuargl 2o+ pasd)
(C) w2l dat (Di ao[Hi 14 e sl
2. I have an umbrella. This umbrella is not ......
(A) me (B) myself (9 mine ’(B),my
3. $SUHU25 %257 25 wu ?-
(A) 4000 (B) 400 (C) 625 (D) 2500
4. war’ asel AR Sisdi - y
Ay + i (B) 9l + i (C) Wd + G (D)L +24
5. ‘s s vua 8. - i asani v 8. Baug -l usiz dvil, v

AyasisBune @) RslsBune  (C) dys Bawe (D) 3l s
6. I'have to go to Mumbai ......................

(A) yesterday (B) tomorrow
«f on last Sunday (D) a da{ before
7. Kajal says she can’t our invitation for lunch today.
(A) across (I}Laccept (C) almeost (D) angel
8. s Bisiart vieui- 1y 1:4:5 1 gl Shdl Bisieru sl siie vl 4 ALl At vyeu
HYAL ASLAd ..o L, o
- 50
(A) 72 (B) 30 (C) 45 “(D)-60 E

9. ACLANS W12 s AGE WUl Db WEYIT 2d Goyaldl Geua’
(A) HBls Ul Mq-ai WSl (C) 2AHd Ui (D) HBHEiRa

10. Thave ......ccc... the reading competition.
(A) win (B) wins (C) wining @/won
11, avesin-l A sWuie 530,
(A) se,80q, ghs, 5B (B) 5[, sRs1, 54, sEa
(O 8ld, s, sB, seu (D) s[q, seu, 5[5, B
12, “euRddlday oladl Ben uan wup’ 568 wani ueBid as ?
(A) 1931 (B).1935 (C) 1942 (D) 1940
15,1 (5.3, iyl oua 30 3. 8. 3 dlog 4ot 100 i d B, dl 315 o) Bud 324 ag) ?
(A)13. (B) 50 Y1t (C) 90 OE] (D) 3 3.
14, ‘oquui oriql #6158l videel crusell 4 @rdl’ - 20 QG su SR B ?
Wew (B) AR e (€) ¢l £d (D) GHieis2 Al
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Tk

13:

16.

17.

18.

19;

20.

21.
22,

23.

24.

25.

26.

2L

28.

29.

The neem tree is coeeueereeuese my house.
(A) in (B) over @n front of (D) on
sponsel Aol RsA 212 - sad uRe s 9 ?

(A) uRusadl (B) &t (C) Galau (D) ARl
quaeiz’ a3 vl Ana-iz s ses ?
(A) RRi8 1l ®yfu-e (C) EURM (D) il
-:— o 25141 3UIAR s Hl.
(A) 35.70% (B) 73.50% (©V30.75% (1) 37.50%
15 W2 KRAR SeaL S A ?
(4)39.5 6 (B) 39.37 52 () 38.36%, (D) 39.00 52
wirtaaadlad 54 o wa gald wig o ? )"

\(}Wuﬂj w3 (B) w3 (Cysuy) (D) s
Our car was Funning .....ceees o— the road to Udaipur
(A) upon (B) along A (C) in (p)/on
See, the garden .....c.egeees the flowers:from garden.
(A) has plucked (B) placking, {C)is plucking (D) plucked
ol wtgulis AR 32 8,7
(A) Ad (B) 2 (g) 26 Wiu

-

% A unzgeits el

49 21

G o4 (B) 32 ©) lﬁ (D) %%
The cyclone caused ....oeeuemmeusssmsesssaness damage to the village.

xtended (B) extension (C) extensive (D) extend
‘ouaad’ - il (A1l awe s O ?

(A) UELSU (B) &ty (C) Ax% (D) &4
dorziizn ABCD ) B 36 8. A AB : BC = 4:5 O K1 : | od=S———
(A)5 (B)9 (C) 10 Dy4

e $u2’ i 1l 3ogaudl- Ao AR da dl, 1l ek ad sl arR i ?
M@q& (B) HomarR (C) AHAR (D) G4
Which of the following words is ‘Adjective’.

Wi{indness (B) Kind (C) Kinding (D) Kindly
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

41.

As the child was alone, I .... look after it.

(A) has to (B) had to {Cyhave been to (D) have to
I am a fan of Amitabh Bachchan. His ......cccoevveniunnae is good even at this age.
(A) perform (B) performed (C) performing M‘formancc
Find out ‘Adverb’ from the following sentence :

The good persons always act honestly with other people.

(A) tionestly (B) other (C) people (D) good
yedlHl qwdldl aamor 15 4l 50 (3.3 Glaus yl sun iyl w2 2udal © 296 %;@[vu $ULE01AL
(320 avw 52 €9 7

(A) s164 SRS 3, dlon 3211 \(Byﬁﬂos“m ary, uiR ARl 3o

(C) 5161 HiAsuS 3, lew a1 (D) Muatay, lagout )y
Choose the past participle of : “Teach”

@YI‘ aught (B) Teaches (©) Teach'i'nig_.. (D) Teached
eeUnl 4oL [Rumq w2 g ¢ig 734 8 :

(A) ARun (B) 51283 o) wiRws WERTT
Kapildev was the .....ccceeererrene bowler in'thc.l}lﬂiﬂa,.

(A) fastest {B)/féster (C) fasten (D) fast

3. 5000 o 8% AL 2 ariril 6L 2H PR, A5 (B4 %Al dslad S2al aid ?

(A) 3. 432 (B) 3..400 L ©an (D) 3. 832
sHYAS AvAl W oMNd sy ? A
JAY S s asdl yadldl

(B) AAs 1l Al Al Asmg

(C) A58, e s A o316l B aadl

(D) 25 HA-L Wl 2AHT e sl 284

i v 6 9. d WS e dvadl a1l 4 €iadi susl o vzl ad e
.

(4)9 (B) 18 (©)5 (D) 6

542 olidal W12 sUL SR Batigil AR quia 6§ ?

(A) $1uR + &l Bysas + 2013

(C) 2] eaida 1oL W 25 yar ) (D) 5142 + s

WS 22 ueL R - sdadl Qg sdad quil :

(A) AL$ QIR ddl A A3 (B) Y 318l Ay w231

\(9)&12&1 o s I8 (D) Hi2L 224l vial
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1. 51460 a2 2uadl 2Qcurd BEIRSTEN B [EVLLC 1] (RS QL.
(A) 120 (B) 112 (0)169 (D) 53
3. wals RaaAea....
. W&m, AQuis, 2t [l (B) 2ty Biaa !
2 ‘on’;,]"w A (C) @an [ | ' (D) Az2su-t Qe \
O/'?hfs /Lhtitﬂ@vi\ A EOTAEEE R AT oflog s el 2ol el ?
\ (A) caquls Qa2 2% L (B) i Ao y[d alogL
< (€) A [z @i () (e i y
éi’% 45, GIET it s siisHi-n wauRRl Hifs AHAUAS S s wBis 529 7
5% (A) GIET £, (BB il (Y buanfe ¥ (D) @art B
& 46. My brother SPeaks wo.ccuueenes he were a leader.
565 (Ayso that (B) as if (C) though (D) that
47, aweSlal sHHi Bed sul A% 2099l ?
(A) Blazs (B) £%2 MOpiac (D) 4
48, 3vg 2 2l Al sl A il yoro QiR 56 el e 2 ?
(A) ApAAEL (B) diysd wiel
(C) MraRi uifl \(%uzm‘,l
0. ‘43 el ciflneis A2l 4§ aasanidl Adtmi A O ?
@{m;-ia s (B) 2i-ie (C) vis-2u-ie (D) Naix(a
50. This ismy purse. Where IS casserersensescane ?
(A) yours (B) mine (C) you (Dyyour
sho Septaur i Sl ® ?
M@mu (B) 420l (C) $12%2¥ (D) 322
\y WL AA Y ?
(A) WB 52 (B) dauel Mu (D) -12%
53, Pl el wd g ? l
(A) v @t[ﬁ-ﬁ el U
(©) axa AR (D) ALBAL HAH U8R
54, 3% w1y Ul 21441 8 ?

(A) 3942 (B) A (O RER (D) Wt
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55.

56.

57

58.

59.

60.

65.

(&) 53 (B) 5
A V4| vilg R waie m\
: dud

[Rusteitt 245 vpsud 1w 85° 8. ol 6 veuii- MUl dsiad 35 8, dl sudl- 6 vpsusi {i 3241
82l ?

(A) 35,70 (B) 65,30 ' (C)535,20 (D) 45, 80
EREREERTEY W CIRTERTREA

(1) uYal AL Gualdifl $5d 9ed srma 53¢l Avan g2 i B, ‘\
Q?) ool Guaiodl daiy deiddl €2 w9,
(A) 1 211 2 o vii2i 89, (B) 1 1y 2 2 viig 9 -
(C) 1 W1 1 2 iy 8. - .(pﬂ 211 2 oA
Change voice : By whom was that glass broken ?
(A) Who has broken that glass ? @;)/‘Mo broke @ glass ?
(C) Who had broken that glass ? (D) 0 brea at glass ?
“gon2l auiHl ol 2l dg-u” 24 sieadlEa sun sladl \
(A) Gaugisz ol (B) -l e i 1y Dy e
356 3B i ATision A ceverssopesens '
WY
(D) 52 ,a/}'

28, 4 Rt glu 8.
[Feu-l giu 9. )
BuR s Rann €lu 8
58 oiold Aldl ay awyud B ?
(B) Hadis #7544l Qs
\(D)yslasin

at-dl eueil (s’ 20 sul Gaey sdausl ?

(B) umulys Basu (C) [alre Geey W(Dydlu Gasy

37° L y2s e s stad i s2 ?

(A) 46° BT 470 (C) 40° (D) 43°
Sure, Lo complete my task.

(Ayam (B) is (C) are (D) will
......... BUOLSL WA <......... WEAYRASL ..... RS,

(A) ottt Yiduldinl, giat (B) G481, YidUidini, siai

(C) e, Widuldint, Siai (D)oL, Wlduldini, siai
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66.

67.

68.

69.

70.

71.

72,

73

74.

75.

76.

o153 YouaR Avid Muiac Al 08 a3zt 56 Ad 53l ASA 2
(A) YouaiA 24 geladl.
(B) 3R 2082 w2 2ol 32aiadl.
(C) 123 QS AR AR Qv suad-Helad,
Q)),{tfuatq 518 gIRL AR 2o s1adl.
crdla A s gl dd asu 5 9 ?
(A) ARBHI A8l % Wl A 53 (B) 5304l Al-1d 6l Sdl,
(C) srdlBr2 Rl 8 (D) AR 2A[SEAERIR SR Sl
They will inform you that they ......ccceueeue JUSE occisaseossinsoneey .to Haridwar.
(A) are, going (B) will, go (C) Mave, goned, (D) had, gone
‘aud B ad), 229 ady’ - sud 21 il 3RuAS 520 S ¥ ’
(A) @ w2l adl (B) 28, 4QuIus adl
Oy Dauils oiqal (D)o &S g
wafs Riae A3 adL yeis g; yaud @ ?
\(})415 (B) AsaisS-2 Q)25 (D) ud-21d
siseu-ii-l Rsa yeud sHlewdtgly 87
(A) AidB1s [@As By4iilas (45121 (C) wdRs Qs (D) il s (s
A4 sawt silaud cua o W, £
Mvm (Bywtis (C) a2 (D) Hlg
il iRl g4 IRM 54001 R dlell Ry A © d Gvu UAWAAL SULUSR 69 ?
@,@uﬁ U (B) GwL agH (C) GwL 4 (D) Gwt [al32w
Al Bt AL 612130 42721 §2-2id2 Bt (Distance Education) 2434 sl [A212 21ldel
(A) x5 Riaw (B) aixdlaall A8
(C) vilurt YRl (D)ilu 254
A5 st saeil S SisalRs AR Al 9§ 243 well o © o s 2lseell salad ?
(A) NaOH + HCl = NaCl + H,0 (B)YNaOH + HCl = Na,Cl+ H,0
(C) NaOH + HCI = NaCl, + HO, (D) NaOH + HCI = NaCl + HO,
@ers stedeidid 0 1 56 dd sl asia?
\(zy/rél-ﬂtigﬁl}*ll YeuisH G121 (B) a5 612l

(C) el [Rizsi-u yeuis gl (D) 2L 2GR gIRL
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77, et Al sl 8UR” - VU ASEAHS 2 quatdl Al A1ou AoE suL 8 2
(Ayiaal (B) vigousdl © (C) GuAas (D) iotd uge-laL
78, s weuvil A cterani g g 1l ?

M B2l [A3g (Beu siu S (B) Gl ujRuilrL MUl 420U 180° 31\

(©) & (el [Q3g el (D) S5 AR 61 1A

70, 3:30 sed R O szt aE sea via-dl vel ot ‘b/
(A) 90° (B) 75° (O60° D) 30

80. Would you mind ...ccceevsercences the window ?
(A) to close Mosed (C) closing close

81.  AJAY werrrenrnsnssnsaninses the matter among all the memberg

(A)disclosed (B) disloced (C) dexe (D) disclose
2. et alldii cud’ - 4 3RuAlerl 2 g A 9 ?
(A) SRuu% 3 s 2udl 39,
(C) Wl axgA ay Wl euadl opou1l (R 1 8l
83, ounsA Roid duid dvad wed Al 21 ' ?
(A) 4dduit (B) ddA Avirt
,\9413@0&'1 (D) HLALBYSA AL
84. Choose correct sente y
(A) What might ha o the football ? ’
(B) What mi penning the football ?
(C) What m hened to the football ?
t migh ppened to the football ?
ZilaQchatlavt 52c1 W3 3L Us1R WatuA Sig ASA ?
ERTREEICIT | (B) 251 ualicny]
) 2l ealda dwu ,{%&&ﬂ usldLY]
L ond) 2ol s uBad w2 Adwidl s uRew Al 4y =A51R5 97
(A) ulRaR (B) AHEL (C) ud A(DyfaER
Qe 2 Asell 56 9 ?
(A) Yugs_8L ((BygassaL (C) Y2552 (D) Y2152
g8, sl vilsusS AR o vAA O ?
(A) SO, (B) Ca0O (C) BaO (MO

g9, ‘Buona dzsidl’ 3Ruallorl el el
(A) B opuadl By learad (O Rar oowsdl (Al ad
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90.
91.

2.
93.

94.

97.

98.

99.

25 20220 URER 100 M2z €1, dl A AR &gt e Al Wl aw ?

(A) 100 L. 49/ 1000 1.3, (C) 6250 AL\ (D) 625 AL\
qadl-l vt 485l eia 8, A anulad &6 ulbu el 9 ?
(A) %t (B) ARIS (C) Bedigrt (DY asigzisaue
202, S, g, 4230, g adld s sun Rsia il AeiRa 8 7
A) wrlis (B) i[il_s-_.ﬁ# (C) wiRs (D) AHDS
3qmaA... @ d,
(A) 2R (B) xAatA(ds (C) 2ugt \_@,:-iﬂq
v A2 ?
(A) G2 i@ una 524l \(ByMEl oA §iua 539
(C) ad-1ui uRad- #iaL 539 (D) GRAANRALSL Horaa
andla Aadl eFa-d 98 sal o ?
LA)yierun RslaR v A y @) PRS2y
(C) BRAUS-2 e . (D) Rasi-ie s AU
‘Al WL PUSAHT A sULL 1S SIA O 2
(A) S 20t Ul (B) Hl0i udlw,
@/geﬁst sl3ul (D) 2cildst dyRedd

A aduugiR Aeti-l 2Rt 140 22 8, 21 Al 54 3 3Rz @vi 6§ vlsaard
Sedlanu ?

(A) 46,200 3., \(9/1*3’20 3. (C) 1200 3. (D) 660 3.

s geglaielsun aoe-l e ‘L8 adl +dl ? |

Aysdl (B) He9al (C) uud (D) dlR

VoS arufani dysauel o ?

(A) 2tivil (B) dadl (cymégs (D) dlmsi
100. 21l i1 avudg Al Alas Yads wed....

(A) e 2uBsirn ausHl Sldsin (B) w3 UloL

(©) R 2% D)

101, Da-unidl o’ ave-l uaiaall 4 $iu ddl a0e sul 6 ?

(A) #1284 B) RBu~ (St (D) $i7it

102. 59 Wi 2oL 201 32al GANB dl AR 7 241 3 a3 [ el asta ?

W (B) 25 (C) 16 (D) 4
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e a—- — . o —
103, 2iaBLs A w1A 2iABE Runni sl ad- owns w2 Wi3a ed ¢l d ?
(A) Hiellc 244 Riasi (B) sl birie
] (C) 2] saida A2 U4 is ueL el (D) Hidtd
t 104, et 243 Gl @Rt s’ 2 Sl i © ? .
(A) 33Rs R @efﬁstt? s ()Wl (D) wirt 534S \
105, 1u [ Bawil 20224l 31 Rasad 34wy 8 7
Ay iy (B) iz (©) audfs (D) »
106. M B woveerrrirnaenensnnensnns dla il sl Aed
\(}yﬁa B) A (©) Baa a
107. ‘The eagle can see very far. It has sharp eyes.” - find ou?t me the ‘sharp’ word
(A) powerful Q)@)émtiful (C) small ) big )
108, walis wou saut uHa @iae yead sid e s .
_(fyjﬁzuél Rl IR c@
(C€) x1dl eaida 2@ WAl 2is ua 4l [ 13
109. 30 3 ABA s Bax a3 Goerqcu
@),451 nydl [@21y B Q (B) o 512 B+
| (C) sulz (D) Q2 g (21
gl 110. Rensfi-u ad--uRad+ Gum s S
ol (A) iR [z \ (B) RR
@ | (Dyda
_ 1 2321 39 2
\ ﬁ%l*ﬁQd—ﬂf’lﬁ (B) [Bedl- 3o - yru- ug$
AUEIAE-YRA-HOD (D)LHAS Red-Sasard-us
| aué_;, alse 4 6 7
) 15l = yo Bud — wile [(5ud (B) Wiz = A Bud — 3y [5ud
,\((yM = 41 Bud — a0 (33d (D) 51 = wdle Bud — da Bud

113, 2ud g121 2u-iena Biee s Brud 58 530 edl ? ;
A) uous vl (B e (C) grarum ed (RGeS st
114, vuda au-nell aeald 58 s a9 ?

\(9,41[@1 - ot (B) U2 - "R (C) well - g1 (D) YR - R
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115, UIR dsstuiefl 24115 40 E1me A 13 2l i) viizL s oy 8. g AiwrL su1

w0y e ? .
A) sHRst (B) A4 . (C) A=l oy wREels w2
116, l&-unidfl 56 s wnewa w2’ A3 ?
(A) ¥4y B4y By a1l aus
(C) viRacclH) 2 - (D) UREL 25121
117. QR0 1 i sui el divaisuq siuami 2ud 6 2
&ﬁﬂso@ﬂ@ (B) 14120 3
(C) 1 411000 y4) D14l 100 y4) 4
118. Find out the correct spelling :
Wéeography (B) Geagrephy Q) Geogriphy w* (D) Geagraphy
| L ——— I help you in your work ? _
(A) Does <%{May N( ould (D) Do
120. adn w2 02 W4 5y ausa viig & 7 \
(A) A d Al HI @ 8, N

(B) a1 Biosun 531 el €1 6.
,@(_Byaﬁa Brosun 521 2441 Slu,
(D) adorit 3satiel v Adl D adu-il cum 53 6.
- |- . milk is there in the bottle. A

M much (B)How far (C) How long (D) How many
122. sden Qs guraioe A Asell il & ?

(A) Ryy \9;41131:{ (€) Riyy \(p)gﬂqy
Yl a&$5u 2014 A 51514 Aui s Aadla ol 53 903 Ry 2wy ?
(WA ARl (B) Al £ (C) lHA YR (D) 3E1241 2
12405+ 10 + 15 + ne...... + 100 1l 42100 N4,

123.

(A) 1050 B)525 C) 1025
125. Chirag was absent y'e\s% because of his F(‘ at)her’s ..................... W
(A) fitness (B) ill (C) fit \(D)illness
126. Al g it welly 131az 54 214 sui 2dg 9 ?
(A) 4 Ao A, A+t \ By 3R, A
(C) HirARiaR, ARt (D) Bsa A3laR, wsedlda
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191) 127. 2% 2% d¥st sue g, ... 56] 5 eunsl ... 818 BFai 9. Rad wel ) Fw %dr
s 9.,
A8, g, A (B) d¥8l, g0, Aur
(C) dud, guon, duily B (D) dud, g, dud
128. 5391 s SUHA B A2513 ‘A3 Ay’ 4913 2 e ?
o4 )t (B) >3 (9_// '\
129. ‘el 13 % W42 v w udg Wizl WA bi21042 U512 18] A28 291 ARBUART 24 Rty 55
o1 WY (5 gald ¢ 2
(A) 2545 B)A&iyel (C) 2ai-usnyy (D) alayld

2 5 ey Y 1  §
130. (23) W 532 ) Bud a2l dsiad 2ediag) ?

(A) 448 (B) 512 (C) 64 D)

131, GURdHl 6418 AU UYWL 510 gy ?
\(/Aﬁi. AR5 UALE BT Aelued] 4151

(C) 3L 2a3u Ry (D) 3L, suctUS6L Hitls 52
132, AulRu uS21529 A24042 488! frugs i a1y 6 72

(A) N, ﬂLﬂ/Nﬂﬁs (O N0 (D) NO,
133. Find out the correct oppositeword of : ‘Handsome’® -,

A)Ugly (B) Lovely (C) Dull (D) Beautiful
134, AA-uniel) 55 ouzinRis o 7

(A) B \g}{ oA (C) AAde (D) sld als

135. 90ei 5 AN A udl 2R i su1 Guryaed) el 6 ?
@)«éﬁg_ (B) Gamiy (C) s9is (D) daHyiu~
1360 NG o 2 33 R 537 2. Al sl awa 5902 3, IR g 514 5 B ? - 2y A48y Qs

WA [Q9lum s3i 6 ?

(&) 53, 53, a1 \@%@M, Ad, 4 (C) ¢, A8, W3 (D) 5%, 90, 9
¢ 137, 7t (W) Buq 3.1416 Al uu3 519 240 ?

(A) AR sy (B) aris R
' (C) waaRly Mld@ts

138. [REusHl 5 [Qord wWid) & ?
(A) Hrll8R = M3 + ¢2 \BHESWa = 2y + wy
(©) Fresin = [y + 51y (D) oieiR = B4 + vionz
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139, ¥ 1939 i Younzis 613 sa Al vaed 2 53 ¢dl 2
(A) RN S54d (B) Slsurt Rules
) s1as vals | (D) 2uMe [Ee sl
140. Monday COMES ..cccrreerissanssanns Sunday and Tuesday.
(A) after (B) between (C) among L(_l),bef
141, G5 viaud il Ad-usidl i um 2sudg © 2 * Q
(A) %$in 538 \@chﬂq (C) WSS 5 (D\Hz
142. A% a4 A e seal Fladle: ? ¢
(A) 10 [Mladlz: (B) 100 [Ffge
@nggju&dlaz (D) 1 [
143, ARzeri 54 G221 uRysl 52l W2 WisAYRd s GUal?
(A) UALAHS
\(gﬂ{él galdd A% ( A
o144 ouosHl syfEtis Aladid YA siel du
(A) $L. 5146 (B) A4 C) M (D) 3L. ez B
o 145, gt s g g e ?

dl (,})’ﬂg.. \(9:5 2 (D) sA 8l
146. ‘cunsA 14 @il G 214 sBruid e’ 2 58 Alad s ® ?

(Ayrélulaan {B) Y-l ouo 851
(C) A% 51 (D) 2a suseael Hld
147. ‘The w wheat in the winter season.” - show theJkind of noun of ‘wheat’
) Ab (B) Collective mterial (D) Common

9.

arloill alfloumdl 4253122 52 8, sttt aufl ezl alflell 575 W22 62 8. i
g3ui ur 8. di sl st audl seell €2 sal?

AY150 Hl22 (B) 425 Hle= (C) 575 122 (D) 1000 ez
a-miell sion gorsdl vusuid 4l ? b
(A) Alsa (B) sleue2 (C) 5 DT 5142

150. O 21921 a2 32a vigdl viel Al A5 argri 2B W ?
@)&5,( (D) 180°

(A) 360° (B) 0°
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